EAGRAROBREERT — 2 N— IBISH —F

202156850 (+) 4m+=1H

R A S il

(xwlw | mEmml - v 0 o s

[A~&£] 1 7% :5,100,000  ~ 23 :2,000,000 @ 37 :1,300,000

/43 :770,000 5 3& :510,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
43 | MBS 1:51.7 3-3-1-1 | 38.7| 89.0 | 2 46 | HHEZ (ER)
11816 kg1)am 56.0 (-) 0 HREET
T4 =TTVI07 B2T7XXFVHI =e)
o = B :51. —4-4- . . NftEE (ER)
ol1l1|7xHs251 [B] 43 ! 1(15/12;3 3-4-4-4 | 38.6| 88.0 | 1 (5_028) P
L:UFLF4—Z B:AMIIL—H— LERS
= 4 3 | EoEE 1:52.7 9-9-10-7 |38.7| 80.2 | 4 464 | KIREBZ (FEX)
3112|714 56.0 ®) RIS
LF-TTUTLF BaA-TNC KT EY¥1I7—4
s # 3 | JIBfE= 1:53.0 3-4-4-2 |39.8| 78.4 | 8 480 | FIEZ (FH)
417114 7V /T72EY ¥R 56.0 ) (-g) | AL
iRy A—BIYI BT ANRT 4L kel
g # o3 | WHEE 1:53.2 12-12-11-10{ 38.8 | 75.9 | 10 | 460 |SHHE— (EH)
5 4| 7>V AL KR=-0 56.0 ) (—) | %) CHEVALATTACHE
L:Z2bhOrd)E—r BT %— =2 IEFE
sl g | YTIVEZ A 3 | DO 1(:;5/%3 3-4-4-4 [40.0| 76.1 | 3 ?jg ié?i;’?* ()
L:¥2F BL2FII—L ez be]
. 4 3 | F=RE 1:53.8 9-9-7-7 | 40.0| 71.9 | 5 504 | REETT (ER)
717113 0271 X 56.0 3) (+6) SISER
v RKYIVRIR BTINTARFv—L HET7—L
o s 4 3 | REREC 1:53.8 9-11-12-12{ 39.2 | 70.9 | 12 186 |FAHRE (ER)
8|5|10| AXHYTRK—A 56.0 (7€) (cay | AHER
R:N—5—-vy 7T B:F5E-—L 75 Kis
. # 3 | BERX 1:54.2 7-7-7-9 | 40.4| 69.1 | 14 | 504 |FREAME= (EXR)
JLZAy ¥ - 56.0 2'1/2) (1) |SENI=E8
R:Z2bhArT)a—> B:vA XM —IRZ NS
- . o 16-14-15| 39.5 | 63. EORE ()
FaEITV 43 SN 1 (551) 7 15-16-14-15| 39.5 | 63.5 | 16 (Tf) /J\E;ﬁz
LN—E>Tv— B:YaV-Tv7 KEHE
Vag/ 44 E>Y # 3| NRAE (11:515/?8 15-14-16-16| 39.5 | 60.9 | 15 ?—74(; ?E;@?‘ (FE®)
R:T7—IWVKRI-ZX B:Fy hFT7T7547 BHOF
o= = 4 3 | EEREX 1:55.9 2-2-2-4 | 42.8| 59.5 | 11 472 | BE—5 (RR)
EXT1—7— 56.0 (5) (=) | ®) v o274
R:T95>TVRZX B:HYA T —5— B 245
N . . WAL -56. —13-14— . . =241 (FR)
SAYTRE Y R 4 3 Ex 1(35/64)0 13-13-14-13] 40.9 | 55.2 | 6 (i?g) ;‘Eiﬂﬁ%?—
LN=5=>9T BT7ITRITIY =liztae]
S — g # 3 | EEARK 1:56.2 1-1-2-3 | 43.2| 58.0 | 7 482 | FRBE (BR)
If > >=—4 56.0 (1 1/4) (+6) () REgE=
R:I—-v>y—54> B:I—YrA~v—> FERS
s 4 3 | BERE 1:56.8 8-8-7-10 |42.9| 53.1 | 9 530 | IS (B®R)
74-0—t3 5.0 & ony | ) G1L-vsy
RFAT*ATv— BT 2EX (B) A3 —-FRL—->a>aEI7r
N — IR : -14-13- TR (ER)
T Ao FT 3 At (11517/21) 14-14-13-14| 42.3 | 49.6 | 13 ?_784) s
R F—TFa— b BT HE—TIAK GSARML—Z Ttk s—
@ 71 L
) 51.2-38.7
NA> 24 L | 12.7-11.0-12.4-12.2-12.2-12.5-13.0-12.9-12.8
® I —F—EBIERL
1T=7r= (5,%15) (1,8,16,14)-3,11(2,10,13)-4,7,6(9,12)
2 =7= (5,%15)16(1,8,14)-3,11(2,13)10-4,7(9,6)-12
Fol=5r= (5,15,%16) (1,8,14)-(3,11,13)2-4,10,6-(7,12)9
40—+ — 16,14,15(5,1,8) (13,2)3-(11,4)-10-7,6,12,9
[ N3
BB 16 250M 714K 1-16 160M ) 1-8 240 3JEHE 1-2-16 590M
8 B 16 110 2-16 280M B = 1-16 320M K31 16-1-2 2,320
1 1104 1-2 320M B H 16-1 6604
2 170

ARICOVWTRDTEEERROODE. TR LIV,




